EBV, BMLF1,g0 - 288

CMV, pp65495 - 503

IAV, M15g _ 66

IAV, PB1-F26, 70

IAV, NP366 - 374

IAV, PA24 _ 233

IAV, PB1703 - 711

mCMV, m139419 — 426

mCMV, M38316 - 323

mCMV, M45985 —993

TCRGP

B.3: AUC = 0.822 |
a,all.___ AUC = 0.917
a, 3 AUC = 0.860 |

B.al.  AUC =0.720

B.3: AUC = 0.651 |
a,al.___ AUC = 0.752 |
a,3: AUC = 0.699 |

B,3: AUC = 0.852
a,all.___ AUC = 0.867
a, 3: AUC = 0.859 |

B.3:  AUC=0.863
a,all: __ AUC = 0.823 |
a, 3: AUC = 0.770 |

B.3:  AUC=0.901
a,al.___ AUC = 0.853 |
a, 3: AUC = 0.788 |

B,3: AUC = 0.933
a,all:  AUC =0.913
a, 3: AUC = 0.881

B.all:  AUC =0.929
B, 3: AUC = 0.927
a,all:  AUC = 0.939
a, 3: AUC = 0.896

B, 3: AUC = 0.802
a, all: AUC = 0.875
a, 3: AUC = 0.886

|
TI

aB,3: _ AUC =0.949
B, all: AUC = 0.954
B, 3: AUC = 0.941
a, all: AUC = 0.890
a, 3: AUC = 0.863

B.al: __ AUC =0.902

B.3: AUC = 0.869 |
a,al: __ AUC = 0.906

Q, 3: AUC = 0.802 |

o
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TCRdist

B.3: AUC =0.828
a, all: AUC = 0.846
a, 3 AUC = 0.853

B.al. __ AUC =0.707

B.3: AUC = 0.680 |
a,al.___ AUC = 0.723 |
a,3: AUC = 0.734 |

B.3:  AUC=0.846
a,all: __ AUC = 0.791
a, 3: AUC = 0.810 |

B.3: AUC = 0.815
a,al:_ AUC = 0.669 |
a, 3: AUC = 0.724 |

B.3:  AUC=0.838
a,all.___AUC = 0.684 |
a,3: AUC = 0.716 |

B,3: AUC = 0.865
a,all:  AUC =0.783
a, 3: AUC = 0.837

B.all: _ AUC =0.847
B.3: _ AUC=0.894
a,all:. __ AUC = 0.747 |
.3 AUC=0.870

B.3:  AUC=0.735
a,all: __ AUC =0.767 |
@,3.  AUC=0.844

aB,3:  AUC=0.937
B.al. __ AUC =0.929
B.3: AUC = 0.935 |
a,al: __ AUC = 0.789
@, 3. AUC=0.849

B.al:. __ AUC =0.786

B.3: AUC = 0.826 |
a,al: __ AUC=0.735 |

a, 3: AUC = 0.766 |

o
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